CHM 151 Quiz la 25Pts Fall 2019 Name: Ke,%,

Show All Work To Receive Credit!  Conversion factors and prefixes:

G=109,M=10%,k=103,¢=102,m=10-3, 4 =106, n = 10° p = 1072, 2.54 cm = 1 in, 1 km = 0.6215 mi, ,
12 in =1 ft, 5280 ft = 1 mile, 3 feet =1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts =1 gal, 2 pints = 1 quart

1. (9 Pts) Perform each of the following conversions. You must show the complete setup.

a. Convert 893 Gg to Mg

993 84| 10 793 /03/‘/\& §
3088
L /?LIO—@‘{@%X 108 Ms S

WMMWW

b. Conve m I
- ﬂ442L;l;S)J£LL| 1076 } / @/0 SANNNGY V%D\/m[_\
! RC ———
) Cor;zﬂ,;zi IGSA;I R Sfimd ‘ | pros o /5,008 oX? ,;:
6 'S o /
he | 06215 p | GO pen | ( ea o
S~

2. (6 Pts) Assume each of followmg numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant figures.
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3. (5 Pts) A block of wood measures14 inches by 128 inches by 55 inches. Determine its volume
in cubic centimeters (you may ignore significant ﬁgures) 2.54 cm =1 inch
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5. (5 Pts) A sample of copper ore was found to contain 0.055 % copper by mass. How many
grams of copper can be recovered 970.0 kg of ore? .
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CHM 151 Quiz 1b 25Pts Fall 2019 Name: KQ(;Z

Show All Work To Receive Credit!  Conversion factors and prefixes:

G=10%M=10%k=103,c=102,m=103,p=106,n =107, p= 10", 2.54 cm =1 in, 1 km = 0.6215 mi,
12 in=1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts = 1 gal, 2 pints = 1 quart

1. (9 Pts) Perform each of the following conversions. You must show the complete setup.

a. Convert 558 Mg to mé. q [l
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c. Convert 81 miles/hr to km }ier second.
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2. (6 Pts) Assume each of following numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant figures.
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3. (5 Pts) A block of wood measures14 inches by 28 inches by 55 inches. Determine its volume in
cubic centimeters (you may ignore significant figures). 2.54 cm = 1 inch
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5. (5 Pts) A sample of copper ore was found to contain 0.085 % copper by mass. How many
grams of copper can be recovered 1070.0 kg of ore?
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